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FACTORISATION OF POLYNOMIALS

Solved Examples

1. The factor form 4(3a — 2b)* — 5(3a — 2b) is

A. (3a — 2b)[12a — 8b — 5]


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_c5T14LIEXUzu

B. (2a — 3b)[12a — 8b — 5]
C.(3a — 2b)[8a — 12b — 5]

D. (3a — 2b)[5a — 8b — 12]

Answer: A

° Watch Video Solution

2. The factor form xy + yz + xza + za is

A xz + ya

B.(z + 2)(y + a)


https://dl.doubtnut.com/l/_c5T14LIEXUzu
https://dl.doubtnut.com/l/_1RN9IdX2YH9q

C.zy + za

D.(z + a)(y + 2)

Answer: B

o Watch Video Solution

3. The factor form 1622 — 8z + 1 s
A (4z — 1)*
B. (2z — 2)°

C.(3z — 2)°


https://dl.doubtnut.com/l/_1RN9IdX2YH9q
https://dl.doubtnut.com/l/_UGProESpDOH0

D. (5z — 1)*

Answer: A

o Watch Video Solution

4. Factorize: z* + m2y2 + y4

A. (wz + y2 + a:y) (:c2 + y2 + :cy)
B. (mz — y2 + wy) (a:2 — y2 — a:y)
C. (a:z + y2 + zcy) (m2 — y2 + a:y)

D.z? + y2 + :cy) (zcz + y2 — zcy)


https://dl.doubtnut.com/l/_UGProESpDOH0
https://dl.doubtnut.com/l/_Ms3jyb0uthHm

Answer: D

o Watch Video Solution

5.The factor form =2 + 9z + 14 is

A(z+T7)(z+2)
B.(x — T)(z 4+ 7)
C.(2z + 7)(3z + 3)

D. (x + 3)(z + 4)

Answer: A



https://dl.doubtnut.com/l/_Ms3jyb0uthHm
https://dl.doubtnut.com/l/_ih3Sy2JkJ7gl

o Watch Video Solution

6. The factor form (2z + 3y)® — (2z — 3y)* is

A. 18y(4:z32 + 3y2)
B. 18y(4x — 3y)
C. 18y*(4x + 3y)

D. 18:1;(4:1:2 — 3y2)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ih3Sy2JkJ7gl
https://dl.doubtnut.com/l/_4YmSDbxciAMD

Exam Booster For Cracking Exam

1. The factor form 5z — 20zy is

A bz(xz — 4y)
B.10z(z — 2y)
C. 5(:1:2 — 2y)

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WCRtwjEiVPFR
https://dl.doubtnut.com/l/_YUg1GXkNBvzi

2. The factor form 5z (y + z) — Ty(y + 2) is

A. (bz — Ty)(y — 2)
B. (bx — Ty)(y + 2)
C. (5 + Ty)(y + 2)

D. (5z + Ty)(y — 2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YUg1GXkNBvzi

1 o . 1),
3.f {z+ — | =6,then | 2° + — | is equal
i :132

to

A. 32
B. 38
C.34

D. 44

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zofw9kmz2OCR
https://dl.doubtnut.com/l/_gsRyd2O2q3BS

4.The factor form y* + 3y + y + 3is
A (y+1)(y+3)
B.y* + 37
2 2
C. (y + 3)

D.(y+2)(y+ 1)

Answer: A

° Watch Video Solution

1 2
5. The factor form z2 + —+2—-—2z— —s
22 z


https://dl.doubtnut.com/l/_gsRyd2O2q3BS
https://dl.doubtnut.com/l/_pYQ6cVfyMXLt

Answer: B

o Watch Video Solution

6. The factor form 8 — 4z — 2% + z%is

A(2—z)(4—2°)


https://dl.doubtnut.com/l/_pYQ6cVfyMXLt
https://dl.doubtnut.com/l/_V9MG80Td0Emb

B.(2+ z)(4— %)
C.(2+z)(4+2°)

D.(2—z)(4+ z°)

Answer: A

o Watch Video Solution

7.The factor form z* — 2,/3z + 3 is

A (z ++/3)°

B. (z — v/3)°


https://dl.doubtnut.com/l/_V9MG80Td0Emb
https://dl.doubtnut.com/l/_OyPzW0yoUhsz

C. (z + v/3) (z — v/3)

D.(z + 2)(z + +/3)

Answer: B

o Watch Video Solution

8. The factor form (a4b4 — 16c4) is

A 4(a’b® + %) (ab — 2¢)(ab + 2c)
B. (a’b* — 4c®) (ab + 2c)*

C. (a’b” + 4¢®) (ab + 2¢)(ab — 2c)


https://dl.doubtnut.com/l/_OyPzW0yoUhsz
https://dl.doubtnut.com/l/_a3PW9NY7zdzY

D. (a’b” — 402)2(ab + 2c¢)(ab + 4c)

Answer: C

o Watch Video Solution

1 _ 3 1
9.If x + — = v/3, then the value of z° + —
T

IS

A.3,/3

B.3(v/3—1)

C.O


https://dl.doubtnut.com/l/_a3PW9NY7zdzY
https://dl.doubtnut.com/l/_YqOdMMqDNekF

D.3(v/3+1)

Answer: C

o Watch Video Solution

10. If '@ is an integer such that

1 17 1
a+ — | = —, then the value of [ a — —
a 4 a


https://dl.doubtnut.com/l/_YqOdMMqDNekF
https://dl.doubtnut.com/l/_bWnQ70ciaWeA

Answer: D

o Watch Video Solution

11. What are the factors of (a3 — (\/Q_b)3> ?

A. (a — v/2b) (a® + +/2ab + 2b)
B. (a — \/ﬁb) (a2 + /2ab + 2b2)
C. (a — \/ﬁb) (a2 + /2ab + b2)


https://dl.doubtnut.com/l/_bWnQ70ciaWeA
https://dl.doubtnut.com/l/_S6lRnmaQqXCt

D. None of above

Answer: B

o Watch Video Solution

12. What are the factors of 32z* — 500z ?

A 4z (2z — 5) (42> + 10z + 25)
B.4z(2z — 5) (42> + 10z + 5)
C.4z(2z — 5)(z” + 10z + 25)

D. None the above


https://dl.doubtnut.com/l/_S6lRnmaQqXCt
https://dl.doubtnut.com/l/_G9fZoEVAfF3H

Answer: A

o Watch Video Solution

13. What are the factors of [(a — b) — a® + b°]
?
A.(a —b)(1 R + ab)
B.(a — b)(1 — a® + b — ab)
C.(a—b)(1—a®—b" — ab)

D. None of these


https://dl.doubtnut.com/l/_G9fZoEVAfF3H
https://dl.doubtnut.com/l/_B8xkJ3OSrq50

Answer: C

o Watch Video Solution

14. The factors

(a—b)° 4+ (b—1¢)® + (c — a)® are:

A.3(a —b)(b—c)(a —¢)
B.3(a — b)(c — b)(c — a)
C.3(a—b)(b—c)(c— a)

D. None of these

of


https://dl.doubtnut.com/l/_B8xkJ3OSrq50
https://dl.doubtnut.com/l/_6BmayXK7Qu7J

Answer: C

o Watch Video Solution

15. (5a — 7b)° + (7b — 9¢)° + (9¢ — 5a)®

A.3(5a — 7b)(9¢c — 5a)(7b — 9c)
B.3(5a — b)(9¢c — 5a)(b — 9c)
C. (5a — 7b)(9¢ — 5a)(7b — 9c)

D. None of the above

Answer: A



https://dl.doubtnut.com/l/_6BmayXK7Qu7J
https://dl.doubtnut.com/l/_o4mB66YFcMV7

o Watch Video Solution

16. What IS the remainder  when
(4:63 — 322 4+ 22 — 1) is divided by (x +2) ?

A. 49

B. —49

C.9

D. —32

Answer: B

I o Wiat~h \NtAan CaAliikian



https://dl.doubtnut.com/l/_o4mB66YFcMV7
https://dl.doubtnut.com/l/_rAmQ86xUK4lo
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17. Find the remainder when
f(z) = 122° — 13z* — 52 + 7 is divided by
(3z + 2).

A1l

B.2

C.3

D.4

Answer: A



https://dl.doubtnut.com/l/_rAmQ86xUK4lo
https://dl.doubtnut.com/l/_wf7HMvfhskW8

| ¥ VWatch Video solution

1,
18. gm —2x — 9
1
A= (@ +3)(z - 9)
1
B. 5 (z + 3)(z +9)

C.(z+3)(z—9)

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wf7HMvfhskW8
https://dl.doubtnut.com/l/_le752RrNCwbV
https://dl.doubtnut.com/l/_6lbGnH6ElNhp

19.6,/32% — 47z + 5./3

A (2z — 54/3) (1 — 3,/3z)
B. (2z — 5/3) (3y/z — 1)
C. (2 — 5/3)(3z — 1)

D. (2z — 54/3) (34/3z — 1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6lbGnH6ElNhp

1
20. What must be added to; to make it equal

tox?

r? — 1

A.

T
2
1
B.:I:—I-
T

1
C. —
T

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7xM6c0POJGj6
https://dl.doubtnut.com/l/_LPkKGGYbRIWW

21. If a+b+c=10 and ab + bc +ac=31, then the

value ofa? + b2 + 2 is

A. 28

B. 100

C.62

D. 38

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LPkKGGYbRIWW

22. Factorise z* + 22+ 25

A.(a:2—|—5—3m)(ac2—|—5w—3)
B.(zc2—|—5—3w)(:v2+5+3:13)
C.(:c2+5—3a:)(:1:2+5—3a:)

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CMufFbb59Z7i

23. The factors of 8a® + b — 6ab+ 1 are
(2 +b— 1) (4a2—|—bz—|—1—3ab—2a)

(2a — b+ 4a2—|—b2—4ab—|—1—2a—|—b)

1
(2 + b+ 1)

)(
(4a® + b° + 1 — 2ab — b — 2a)
(2a — 14 b)(4a® + 1 — 4a — b — 2ab)

(2a +b+1)(42® +b* + 1 — 2ab — b — a)

(2a + b+ 1)(4a® + a® + 1 — 2ab — b — 2a)


https://dl.doubtnut.com/l/_6Jd39MQYZuk3

(2a + b+ 1)(4a® + 5> + 1 — 2ab — b — 2a)

D. None of the above

Answer: C

° Watch Video Solution

24. Factorize:

(a:2 + 23:)2 — 3(332 + 2:0) — y(:c2 + 2:6) + 3y

A(z—1)(z+3)(z* + 2z +y)


https://dl.doubtnut.com/l/_6Jd39MQYZuk3
https://dl.doubtnut.com/l/_U9HNeapeGDw0

B.(z — 1)(a3—|—3)(a32—|-a3 —y)
C.(z — 1)(z — 3) (2 + 22 — v)

D. None of the above

Answer: D

° Watch Video Solution

1 1
25. The factors of 22+ — +1 — 22 — —
42 x

are

Aot 3) (o 55 - 2)


https://dl.doubtnut.com/l/_U9HNeapeGDw0
https://dl.doubtnut.com/l/_14vH4TWnglTB

. (++ ) (5425 2)
SRR RTAN

D. None of these

Answer: B

o Watch Video Solution

26. The factors of z* — 142%y* — 51y*

A. (zc + \/1_7y) (zc — \/1_7y) (a:2 + 3y2)
B. (z + vTy) (z — vITy) (z* + 3y°)


https://dl.doubtnut.com/l/_14vH4TWnglTB
https://dl.doubtnut.com/l/_kgqPPO2yJvvS

C. (:13 + \/1_7y) (az — \/1_7y) (az2 + yz)

D. None of the above

Answer: A

o Watch Video Solution

27. The remainder when 4a® — 12a® + 14a — 3

is divided by 2a — 1 is

NCREEN S N e


https://dl.doubtnut.com/l/_kgqPPO2yJvvS
https://dl.doubtnut.com/l/_mJT5iBJCbaWH

C3
2

D. None of these

Answer: C

o Watch Video Solution

28. Find the remainder when the polynomial

(52° — 82® — 2z — 5) is divided by x -2.


https://dl.doubtnut.com/l/_mJT5iBJCbaWH
https://dl.doubtnut.com/l/_LP9LKSWCAxe8

C.3

D. 2

Answer: A

o Watch Video Solution

29. The factors of 4z° + 23x% — 41x — 42 are

A (22 — T)(z + 7)(4z + 3)

B.(z — 2)(z + 7)(4x + 3)

C.(z—2)(z +7)(z +4)


https://dl.doubtnut.com/l/_LP9LKSWCAxe8
https://dl.doubtnut.com/l/_9aS0GMsdVVgy

D. None of these

Answer: B

o Watch Video Solution

30. Find the remainder when
(a:3 — 4z® + 5z + 6) is divided by (x-2).

A —8

B.8

C.2


https://dl.doubtnut.com/l/_9aS0GMsdVVgy
https://dl.doubtnut.com/l/_wiKXOJD3lS6j

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wiKXOJD3lS6j

